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FICHRELFEB T EY 2 — M 2 D0H D 5, getopt (C FFBED getopt() IKHYT2dD) LI
HLED optparse TI, 723 argparse & optparse Zd IZLTED., o TZDFVWHIFIFFICX
BTV ET,

1 a7+

ls a~v Y F2foT, ZOFa— 1+ Y 7L TIEENEIEIELT WS OLRTAEL & 5

$ 1s

cpython devguide prog.py pypy rm-unused-function.patch

$ 1s pypy

ctypes_configure demo dotviewer include 1lib_pypy lib-python ...
$ 1s -1

total 20

drwxr-xr-x 19 wena wena 4096 Feb 18 18:51 cpython

drwxr-xr-x 4 wena wena 4096 Feb 8 12:04 devguide

-rwxr-xr-x 1 wena wena 535 Feb 19 00:05 prog.py

drwxr-xr-x 14 wena wena 4096 Feb 7 00:59 pypy

-rw-r--r—— 1 wena wena 741 Feb 18 01:01 rm-unused-function.patch
$ 1s --help
Usage: 1ls [OPTION]... [FILE]...

List information about the FILEs (the current directory by default).

Sort entries alphabetically if none of -cftuvSUX nor --sort is specified.
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cp SRC DEST T¥, MO5IEX AZIE—-LIWH THH., ZOoHDFEX ¥ TIiCaE—-L7zw
M EERLETD,
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2 Hi

(IFrAY) MLV, ETHMERHNLMDEL & 5:

import argparse
parser = argparse.ArgumentParser ()

parser.parse_args ()

TR ZDa— F2FETLEMERTT:

$ python prog.py
$ python prog.py --help
usage: prog.py [-hl]

options:
-h, --help show this help message and exit
$ python prog.py --verbose
usage: prog.py [-hl]
prog.py: error: unrecognized arguments: --verbose
$ python prog.py foo
usage: prog.py [-hl]

prog.py: error: unrecognized arguments: foo

CARIENRIDF L :

o 7T avigLTAZ Y I 2FTLAMR, RICHIEELINITRREINEREAT L, ZAUZEHER]
TiEdHH TEAR,

o ZOHDETHRD S argparse Y 2 —LOFRAMENOLD EF, IZLACMD LTVRVDIIZ, §
TERNVT Ry L —=IBFIZAD L7,

o ——help (Z4UI -h LEMTEET) LIPEROL TS arTT (0FH T I ATHRT 20E
WEHHFERA), DL T a v RIEETI IR ET, T7—ROBHRHAEX v -3,
Turs ATHRT AR HATEETS,

3 fIE5IBDAF]
LRIchlRL %5

import argparse

parser = argparse.ArgumentParser ()
parser.add_argument ("echo")

args = parser.parse_args()

print(args.echo)

ZDaA—FEETLTAEL & I:



$ python prog.py

usage: prog.py [-h] echo

prog.py: error: the following arguments are required: echo
$ python prog.py —-help

usage: prog.py [-h] echo

positional arguments:

echo

options:
-h, --help show this help message and exit
$ python prog.py foo

foo

ZARIEPERIDF L

o UV IAPRIMIZATYRIA AT a v EIEETEAY v FTH2 add_argument () %*iB
MUE LR, 22T ZOREEICH DB TIIEE%E echo ¥ LE L7,

o TUTILERITTRE, AT aVEEET L LICERINET,
e parse_args() XV v REEEIhA T arvk, ZOYEIE echo ¥ LT, IBRLET,

o ZOZEBUI argparse DWHEIHNCITS HOHOBIETT (D% D, [EHZIENT 22z I6E T 2 05D
HHEEA) ZROLHIDNRY v FITER72XTFHN5H echo LU Z 2 I WATL & 5,

ANLT Ry —DIF TR EIICRAETE, FRUEEDLDRTbH D EVA. /28 21E. echo FNE
BICH 2o 2T, ZAMATH 20250 HRHT 20y —Ra—F2RERINRD %
Bho BOIFTIULANTI R v b= 5002 d LTAEL LS

import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("echo", help="echo the string you use here")
args = parser.parse_args()

print (args.echo)

BIEL7RERIEATD L 51272 5

$ python prog.py -h
usage: prog.py [-h] echo

positional arguments:

echo echo the string you use here

options:

-h, --help show this help message and exit
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Kid, Dot BRI Z L TAHAEEAN?:

import argparse

parser = argparse.ArgumentParser()

parser.add_argument ("square", help="display a square of a given number")
args = parser.parse_args()

print (args.square**2)

TRAZDa—FEETLEMMRTS:

$ python prog.py 4
Traceback (most recent call last):
File "prog.py", line 5, in <module>

print (args.square**2)

TypeError: unsupported operand type(s) for ** or pow(): 'str' and 'int'

EFVEFERAT L, MHEARITFIUL, argparse E5X 6N/t Ty a v 2 XFH e LTIRWE TS,
argparse IZA 7Y a VOEZEHE LTI K5 IIEAEL & 5:

import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", help="display a square of a given number",
type=int)

args = parser.parse_args()

print (args.square**2)

TRAZDa—FEETLEMRTS:

$ python prog.py 4

16

$ python prog.py four
usage: prog.py [-h] square

prog.py: error: argument square: invalid int value: 'four'

SEIEFCVWEELL, 2070 T ARRERANNEGZ N2 L Zh 2 LTI, IOBTRX Y
-V FRLTEITERTLET,

4 Optional 5| DEA

ZZETNESIEEHK > TEF L7, optional 5IEEEBMT 2 HIFECOVWTHIERTVWEEL & 5:

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("--verbosity", help="increase output verbosity")

args = parser.parse_args()
(RDR=V1Hi <)



(RIDR=I D5 DR E)

if args.verbosity:

print("verbosity turned on")

FITLTAZEL : D

$ python prog.py --verbosity 1

verbosity turned on

$ python prog.py

$ python prog.py --help

usage: prog.py [-h] [--verbosity VERBOSITY]

options:
-h, --help show this help message and exit
--verbosity VERBOSITY
increase output verbosity
$ python prog.py --verbosity
usage: prog.py [-h] [--verbosity VERBOSITY]

prog.py: error: argument —--verbosity: expected one argument

CABRZERRID EL

o 0T A%, —-verbosity PHEEINHBHIEIRICHLLLERRL, fEES RTINS KRR %
LIS IZ&ErTVET,

o« AT a OIENEBERTHZ I 2RTDIT, Tur 62t T a  EERLTHETLT
DL -3 B> TVWERA, AT Y a VEIRDBEES NP 12560, BEST 22K ZofITik
args.verbosity . DHITIZT 7 # /L M T None A3ty PEINET, THD if ITKBZEMBT A T
%Eﬁbf:fgm"é?o

o NLT X E—=INHLEDY E LT,

e ——verbosity AT a v EMHSICX. ZOXF T a VTV ODEEIEELRIFIUIRD FEA,

FELOBITIE, —-verbosity RO ZINE T, ZoOfiHRTar I AT, EBICE True $72103
False D —DODMEZINHEMN TS, £57825X51Ca—FEBIELTAEL & 5:

import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("--verbose", help="increase output verbosity",
action="store_true")

args = parser.parse_args()

if args.verbose:

print("verbosity turned on")

EITLTAZL & S



$ python prog.py --verbose

verbosity turned on

$ python prog.py --verbose 1

usage: prog.py [-h] [--verbose]

prog.py: error: unrecognized arguments: 1
$ python prog.py --help

usage: prog.py [-h] [--verbose]

options:
-h, --help show this help message and exit

--verbose increase output verbosity

CARZENRIDF L :

o AT aViMEERLEL T HDTRRL, s 757k % L, ZOEATITAD X514
SarvOLHBEELTVEY, TITHLWVF—TY—F action ZIFE L. fHx LT "store_true"
ERELTVSZEIRFERLTLAZIY, ZHE A7 a YHIREINLLEICMEE LT True %
args.verbose ICARET DL WVWI T ZEKLET, 7Y a YOIEEIRWHEDHEIZ False 732
5T REMRLET,

o 77 VMEEMBNETIIRVDT, HEZIEET2L 70T T 83T 7 —1ThD ET,

o "NUTFTEIAMBEDLoTVWET,

4.1 BEWA T3>

a2 Y RIA4 IR TORIE, 7Y a OB wWA—Y g YOFEEIC TRV 2 IcEMfVWAETL &
9, FAUI L THEHHTT:

import argparse

parser = argparse.ArgumentParser ()

parser.add_argument("-v", "--verbose", help="increase output verbosity",
action="store_true")

args = parser.parse_args()

if args.verbose:

print ("verbosity turned on")

EROTu T AERITTHE IO ET:

$ python prog.py -v
verbosity turned on
$ python prog.py —-help
usage: prog.py [-h] [-v]

options:
(RDR=V1Hi <)




(RIDR=I D5 DR E)
-h, --help show this help message and exit

-v, ——verbose increase output verbosity

HLUWKEEDS AL 7T F A MO KX TV B HICRMFWEZTL & 5,

5 iiE5|# & Optional 51D BEA

T APEMIC o TEE L

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")

"--verbose", action="store_true",

parser.add_argument ("-v",
help="increase output verbosity")
args = parser.parse_args()
answer = args.square**2
if args.verbose:
print (f"the square of {args.square/ equals {answer}")

else:

print (answer)

HAREUTDO X512 £

$ python prog.py

usage: prog.py [-h] [-v] square

prog.py: error: the following arguments are required: square
$ python prog.py 4

16

$ python prog.py 4 --verbose

the square of 4 equals 16

$ python prog.py --verbose 4

the square of 4 equals 16

o NMEFIEEITICRLAEDT, 5 EfEEL RV I —ICRD E LT
e 200K T arDIEFEERB LBV EIERLTLEX W,

BROFHL AV ZHEICENDZ L5170 7 L2 TICR LT, HESNLEZE->TAEL £ 9:

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")
(RDR=V ki)



(RIDR=I D5 DR E)
parser.add_argument("-v", "--verbosity", type=int,
help="increase output verbosity")

args = parser.parse_args ()
answer = args.square**2
if args.verbosity ==

print (f"the square of {args.square/ equals {answer /")
elif args.verbosity == 1:

print(f"{args.square/ 2 == {answer /")

else:

print (answer)

FITLTAZEL & 9

$ python prog.py 4

16

$ python prog.py 4 -v

usage: prog.py [-h] [-v VERBOSITY] square
prog.py: error: argument -v/--verbosity: expected one argument
$ python prog.py 4 -v 1

472 == 16

$ python prog.py 4 -v 2

the square of 4 equals 16

$ python prog.py 4 -v 3

16

TRT 5 LDNTTHLEEREDEREZHRNT, EFLAMToTWVWE L5 TS, ZDANF %, --verbosity 4 7
arPlRN s EEHIRT 2 TEBIELEL £ 5:

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")

I

parser.add_argument("-v", "--verbosity", type=int, choices=[0, 1, 2],
help="increase output verbosity")
args = parser.parse_args()
answer = args.square**2
if args.verbosity ==
print (f"the square of {args.square/ equals {answer}")
elif args.verbosity == 1:
print (f"{args.square /"2 == {answer /")

else:

print (answer)




FITLTAEL & D:

$ python prog.py 4 -v 3

usage: prog.py [-h] [-v {0,1,2}] square

prog.py: error: argument -v/--verbosity: invalid choice: 3 (choose from 0, 1, 2)
$ python prog.py 4 -h

usage: prog.py [-h] [-v {0,1,2}] square

positional arguments:

square display a square of a given number
options:
-h, --help show this help message and exit

-v, --verbosity {0,1,2}

increase output verbosity

BEEPLT =Xy b= AN T Ry =T DOMFIIKMENTVS ZEIZHERELTIZE W,

FHILAALDOWT, Bo/7 e —F AL TAEL £ 5, ZhuE CPython EITAIREY 7 £ A0S Z DFEMIL
LB RS JEE RIC T3, (python —-help DA ZMERL T EXW) -

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display the square of a given number")
parser.add_argument ("-v", "--verbosity", action="count",
help="increase output verbosity")
args = parser.parse_args ()
answer = args.square**2
if args.verbosity ==
print (f"the square of {args.square/ equals {answer /")
elif args.verbosity == 1:
print(f"{args.square/ 2 == {answer /")
else:

print (answer)

H S5 —DOD action THS "count” ZHMALF T, ZHUITEEEN-A T a VOB ERZ 3

$ python prog.py 4

16

$ python prog.py 4 -v

472 == 16

$ python prog.py 4 -vv
the square of 4 equals 16

(RDR=V1ZHiEL)
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(RIDR=I D5 DR E)
$ python prog.py 4 --verbosity --verbosity
the square of 4 equals 16
$ python prog.py 4 -v 1
usage: prog.py [-h] [-v] square
prog.py: error: unrecognized arguments: 1
$ python prog.py 4 -h
usage: prog.py [-h] [-v] square

positional arguments:

square display a square of a given number
options:

-h, --help show this help message and exit

-v, —-verbosity increase output verbosity

$ python prog.py 4 -vvv
16

o HION=Ya> DRIV T +DE5127 57 (action="store_true" IZBTVWETF) KD E L7
LI - 5EMEPbL,AD T, GUE: 5OHOHITIE ~v A 7Y a ViZslBle5R7kkd, 27—t
BRoTVWET,)

o ZHUIstore true” 77 ¥ a KL BEMERELE T,

o TWX 7count” 727 avPEdE0ThTEYA ML —arvZ2LET, BEHLLZD LS REH
HEERNCRZZDHBTL D,

o v 7IURIEBELRINI 77 7 DfHEIX None £ ARINET,
o HIfHED . ROWERD 7 7 7 Z248E L TH R UMRERITLD £5,

o WELME, ZONVTHINETO TS AL L IBBEEICOWTEF I ETHERTIEDADEEA, L
MUy, A7V T D RFaRAT—yarreRETLZILTVOTHEETLZ N TEET HlX
3. help ¥—V— N5l 23252 T),

o MBOMNET AT DIANTDDHEZERLET,

BIELEL & 5:

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument(”—v", "--verbosity", action="count",
help="increase output verbosity")

args = parser.parse_args()
(RDR=T12HiL)
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(RIDR=I D5 DR E)

answer = args.square**2

# bugfixz: replace == with >=
if args.verbosity >= 2:

print(f"the square of {args.square/ equals {answer /")
elif args.verbosity >= 1:

print (f"{args.square/} 2 == {answer /")

else:

print (answer)

$ python prog.py 4 -vvv

the square of 4 equals 16

$ python prog.py 4 -vvvv

the square of 4 equals 16

$ python prog.py 4

Traceback (most recent call last):
File "prog.py", line 11, in <module>

if args.verbosity >= 2:

TypeError: '>=' not supported between instances of 'NoneType' and 'int'

o RUIOHNEEF L VoTVET L, MHTOANZHEIES A TVWE T, RbaFMANNZE21213, 2
PLEofEsHETT,

o —HHOMRIZ, X< DD FHA,

CONTEEELEL & 5:

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument("-v", "--verbosity", action="count", default=0,
help="increase output verbosity")
args = parser.parse_args()
answer = args.squarex*2
if args.verbosity >= 2:
print (f"the square of {args.square/ equals {answer}")
elif args.verbosity >= 1:
print (f"{args.square /"2 == {answer /")

else:

print (answer)

12



HH—DODF—TU—F5|TH5 default TEALF L7z, BEIEL B TE 2 X512, ZOHEIZ 0 Z&E
L% L7, 7740 FTld, optional 5B EE XN TWRWES None £ 725 Z ¥, None D3EEEE & Lk
TERW (Ko T TypeError St 722) T ZBVWHLTLEZE W,

o EL:

$ python prog.py 4
16

CZETHATERLILLEYT, SEIERFEVNEHTEET, LALELRALERZ LT TT,
argparse EY 2 — LI THHMATTDT, Fa—bUTLEKZIZANCDIDLIETERLTAEL LS.

6 HIBE LD ERITER

bL. ZohEnTar s ne “RUNORFEVITA LD LIRS 25425 TL x5 »

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("x", type=int, help="the base")
parser.add_argument("y", type=int, help="the exponent")
parser.add_argument("-v", "--verbosity", action="count", default=0)
args = parser.parse_args()
answer = args.x**args.y
if args.verbosity >= 2:

print(f"{args.x} to the power {args.y/ equals {answer /")
elif args.verbosity >= 1:

print(f"{args.x/ {args.y} == {answer}")
else:

print (answer)

HiJT:

$ python prog.py

usage: prog.py [-h] [-v] x y

prog.py: error: the following arguments are required: x, y
$ python prog.py -h

usage: prog.py [-h] [-v] x y

positional arguments:

X the base
y the exponent
options:
-h, --help show this help message and exit

(RDR=V ki)
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(RIDR=I D5 DR E)
-v, ——verbosity
$ python prog.py 4 2 -v
472 == 16

CNET, SN2 7% A e BETS LDIKGHHL NV Z2foTEE L, 2D DI FELEOFITIE, &
mo 7 A b2 HT 20 ML NV EHHLET:

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("x", type=int, help="the base")
parser.add_argument("y", type=int, help="the exponent")
parser.add_argument(”—v", "--verbosity", action="count", default=0)
args = parser.parse_args()
answer = args.x**args.y
if args.verbosity >= 2:

print (f"Running '{__file__}'")
if args.verbosity >= 1:

print(f"{args.x} {args.y} == ", end="")

print (answer)

Hi T

$ python prog.py 4 2

16

$ python prog.py 4 2 -v
472 == 16

$ python prog.py 4 2 -vv
Running 'prog.py'

472 == 16

6.1 ZREDDHB5|HMDIEE

H 5 5IBOBHICONT, MEGIELDD, D558 T 2 BMDGBIEDH. HNEVENDH 5 L Zid,
-- Z2ffi5 Z & T parse_args () M L TIHLREINMETIBMTH S I ZIRA DI ENTEET

>>> parser = argparse.ArgumentParser (prog='PROG')
>>> parser.add_argument('-n', nargs='+"')

>>> parser.add_argument('args', nargs='x')

>>> # ambiguous, so parse_args assumes it's an option
>>> parser.parse_args(['-f'])
usage: PROG [-h] [-n N [N ...]] [args ...]

PROG: error: unrecognized arguments: -f
(RDR=V1Hi <)
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(RIDR=I D5 DR E)

>>> parser.parse_args(['--', '-f'])

Namespace(args=['-f'], n=None)
>>> # ambiguous, so the —n option greedily accepts arguments
>>> parser.parse_args(['-n', '1', '2', '3'])

Namespace(args=[], n=['1', '2', '3'])

>>> parser.parse_args(['-n', '1', '-=', '2'  '3'])

Namespace(args=['2"', '3'], n=['1'])

6.2 HETHDAFTay

INETDE ZA, argparse.ArgumentParser f Y AX Y ZAD2DODAY v FIZOWTHEATEE L2, Z
ZT32HDXAY vy Fe LT add_mutually_exclusive_group() ZEALEL x5, ZDXY v FIZAWL
WAL F 25 BOIEEZFREICLE T, Eo HLWHEREE LTHBEL T WL SIZ. Tr 2y 7 205D O
PEEBELEL & 5: UFTIE ——quiet A 7> a3 v % --verbose L RWDAF>a v LTEALET

import argparse

parser = argparse.ArgumentParser ()

group = parser.add_mutually_exclusive_group()
group.add_argument ("-v", "--verbose", action="store_true")
group.add_argument("-q", "--quiet", action="store_true")
parser.add_argument("x", type=int, help="the base")
parser.add_argument("y", type=int, help="the exponent")
args = parser.parse_args()

answer = args.x**args.y

if args.quiet:

print (answer)
elif args.verbose:

print(f"{args.x} to the power {args.y/ equals {answer /")
else:

print(f"{args.x /" {args.y/} == {answer /")

77 A3 E DR LN, TEDLDDEENRDNE Lz, £Hh Pl EITHRTY:

$ python prog.py 4 2

472 == 16
$ python prog.py 4 2 -q
16

(RDR—=12Hi )
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(RIDR=I D5 DR E)
$ python prog.py 4 2 -v
4 to the power 2 equals 16
$ python prog.py 4 2 -vq
usage: prog.py [-h]l [-v | -q] x ¥y
prog.py: error: argument —-q/--quiet: not allowed with argument -v/--verbose
$ python prog.py 4 2 -v --quiet
usage: prog.py [-h] [-v | -q] x ¥y

prog.py: error: argument —q/--quiet: not allowed with argument -v/--verbose

RGO RTVWTL D, ZITHEEL Lo LEERBEEEZRI-DCREOHNDZEMLE L. 0%
DEWERDA T a v HWERD A 7> a VORETT,

MOOENZ, Ao BRE T s 20FRBNE L —FIIMEATZWTL D, AD—, HoBZEhEHS
Bne 222 T:

import argparse

parser = argparse.ArgumentParser(description="calculate X to the power of Y")
group = parser.add_mutually_exclusive_group()

group.add_argument ("-v", "--verbose", action="store_true")
group.add_argument("-q", "--quiet", action="store_true")
parser.add_argument("x", type=int, help="the base")

parser.add_argument("y", type=int, help="the exponent")

args = parser.parse_args()

answer = args.x**args.y

if args.quiet:

print (answer)
elif args.verbose:

print(f"{args.x} to the power {args.y/ equals {answer /")
else:

print(f"{args.x} {args.y} == {answer}")

EHAEDTFAIBRDLEMLE L, [-v | —ql 13 -v £%3 -q DEBL2ZMHATE 223, FIKHCH
HZ2fEHTERWI e 2EKRL X3!

$ python prog.py --help
usage: prog.py [-h]l [-v | -q] x ¥y

calculate X to the power of Y

positional arguments:

X the base

(RDR=V1Hi <)
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(RIDR=I D5 DR E)

y the exponent
options:
-h, --help show this help message and exit
-v, —-verbose
-q, —-quiet

7 argparse DHAZEIERT BICIE

ANLVTTEFRARRLTI =X v =7 D argparse Y 2 — LD IE, TRT gettext EF 2 — L%
FoTRRED XD IMELNTVET, ZhICE D, argparse IZ& > TEKINRX v E—I % fHlIcR—F
74 X TEET, i18n-howto HBIRL TL 72 & W,

72 21, ZD argparse O TI:

$ python prog.py --help
usage: prog.py [-h]l [-v | -q] x ¥y

calculate X to the power of Y

positional arguments:

X the base
y the exponent
options:
-h, --help show this help message and exit
-v, —-verbose
-q, —-quiet

X% usage:, positional arguments:, options: & show this help message and exit X TNT

REET,

INSDOXFHNERTIE. ZNOE2FET .po 7 7 ANV T 2HESH D EF, 72 Z2IE, Babel 2ff
W, XROavr REETLET,

$ pybabel extract -o messages.po /usr/lib/python3.12/argparse.py

ZDav Yy Fid argparse £V 2 — A0 5 TN TOMRATREL XTI 2 M L. 15 % messages.po &\
SEHID 7 7 A NVICHAILET, ZDa~<y Fid Python @4 ¥ & b =)L /usr/1ib iIZH B Z L 2HiiRE
LTWVWET,

Y RAT L b argparse EY 2 — LV OBFTE. RORZ Y T+ THRLNE T
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import argparse

print(argparse. _file_ )

.po 77 ANHND X v —=IPREIN, ZDORD gettext THVWTA YA b—LEN53 L, argparse IIHl
RENTA v =Y ZFRRTEDXSITRDFT,

argparse WD B 77 DX FH2TERT 21213, gettext ZHVET,

8 Custom type converters

The argparse module allows you to specify custom type converters for your command-line arguments.
This allows you to modify user input before it’s stored in the argparse.Namespace. This can be useful

when you need to pre-process the input before it is used in your program.

When using a custom type converter, you can use any callable that takes a single string argument (the
argument value) and returns the converted value. However, if you need to handle more complex scenarios,

you can use a custom action class with the action parameter instead.

For example, let’s say you want to handle arguments with different prefixes and process them accordingly:

import argparse

parser = argparse.ArgumentParser(prefix_chars='-+")

parser.add_argument('-a', metavar='<value>', action='append',
type=lambda x: ('-', x))
parser.add_argument('+a', metavar='<value>', action='append',

type=lambda x: ('+', x))

args = parser.parse_args()

print (args)

HiJ7:

$ python prog.py -a valuel +a value2

Namespace(a=[('-", 'valuel'), ('+', 'value2')])

In this example, we:
e Created a parser with custom prefix characters using the prefix_chars parameter.

e Defined two arguments, —a and +a, which used the type parameter to create custom type converters

to store the value in a tuple with the prefix.

Without the custom type converters, the arguments would have treated the -a and +a as the same
argument, which would have been undesirable. By using custom type converters, we were able to

differentiate between the two arguments.
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9 BV

argparse £V 2 —MIZ I THAR I D ZLOMRBEEZRELE T, EV2a - LD FFa Xy PIETY
ST, MEBT, ZFLTRESZADHRDDEST, ZOF2—bUT7ADEKELZZ T, K3DWVWEI LR
ENLDMDOWAEEZ RFTE 2 ITEVD D TH A

19



	コンセプト
	基礎
	位置引数の入門
	Optional引数の導入
	短いオプション

	位置引数とOptional引数の併用
	もうちょっとだけ学ぶ
	多義性のある引数の指定
	競合するオプション

	argparse の出力を翻訳するには
	Custom type converters
	結び

